Multiplication par Puissances de Dix (G)

Trouvez chaque produit.

25 %100 = 12x 1000 =
30 X100 = 86 x1000=
41 X100 = 2x10=
83 x1000= 91 X 10 =
30 x 10 = 66 X 1000 =
17 x 10 = 93 x 1000 =
39 X100 = 67 X 10 =
79 x 1000 = 7 %100 =
55x 100 = 55x10=
8x1000= 56 X 100 =
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Multiplication par Puissances de Dix (G) Solutions

Trouvez chaque produit.

25 x100=2500 12 x1000=12000
30 x 100 =3 000 86 x1000=386000
41 x100=4100 2x10=20

83 x1000=383000 91 Xx10=910

30 x 10 =300 66 X 1000 =66 000
17 x10=170 93 Xx1000=93000
39 x 100 =3900 67 X 10 =670

79 x 1000 =79 000 7x100=700
55x100=5500 55 x 10 =550

8 x1000=8000 56 x 100 =5600
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